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1 9.00 7~ « Cik Ballroom 1TRFE 29, 3 24 9 |W-T-F 14
2 914 7~V « N#k Ballroom TR CER 2 1 2 2 |W-T 3
3 917 7’ « Efk Ballroom TR CER 1 1 1 2 |W-T 3
4 920 7~ « D#k Ballroom 1R CER 7 1 7 2 |W-T 3
5 923 7~ « Cik Ballroom 2RFE 24, 2 12 6 |WeT-F 9
6 932 70 - Bk Latin 1R CER 6 1 6 5 |C+S+*R:P-J 8
7 940 70 - C#k Latin 1R CER 7 1 6 3 |C+S*R 5
8 945 70 - D#k Latin 1R CER 1 1 1 2 |C*R 3
9 948 JO-27»—=2kU=7 Latin 1R CER 2 1 2 5 |C+S+*R+P-J 8
10 956 7~ « Cfk Ballroom ERES 12 1 6 3 |WeT-F 5
11] 1001 7~ « N#k Ballroom SRS 2 1 llgfiz 2 |(W-T 3
12| 1004 70 - D#k Latin SRS 1 1 llgfz 2 |C-R 3
13| 1007 7~ « Efk Ballroom SRS 1 1 llgfiz 2 |(W-T 3
14 1010 70 - C#k Latin RS 6 1 gtz 3 |C-S*R 5
15] 10115 7~ + Dif Ballroom RS 7 1 gtz 2 |\W-T 3
16| 10118 70 - B#k Latin RS 6 1 llgfiz 5 |C-S*R+P-J 8
17 1026 7~ + Ciik Ballroom RS 6 1 gtz 3 |W-T-F 5
18| 10:31 J0O - REBADI »—2 U= Latin RS 2 1 llgfiz 5 |C-S*R+P-J 8
19] 1039 7~ + Bk Ballroom 1RFE 33 3 24 12 W-T-F-Q 18
20| 1057 RN BHET TSI VRKTIUAIDY1L) 15
21 1112 7~ + Bfk Ballroom 2RTE 24| 2 12 8 |WeT:F-Q 12
22| 1124 70O - REBAS A IYYITRY— Latin 1R CER 6 1 6 4 |C+*S*R-P 6
23| 11:30 70O - REEHATLUIP U Latin 1R CER 10 1 6 9 |C+S+R-P-EC 14
24| 1144 7~ + Bfk Ballroom ERES 12 1 6 5 [WeTVw-F-Q 8
25| 1152 70 - REBAS A Y YITRY— Latin RS 6 1 IIgfz 5 |C+S-R:P-J 8
26| 12:00 70O - REBHATLUIP U Latin RS 6| 2 IIgfz 4 |C+S-R-P 6
27| 1206 7~ + Bfk Ballroom RS 6 1 IIgfz 5 [WeTVw-F-Q 8
28| 1214 JQuao 10
29| 1224 70O - REHATLUZP U Latin SRS 6| 6 IIgfz 6 |TEHR 18
30| 1242 RN BHEEL TSI VRETIUAIDI51L) 10
31| 1252 JO - REBAI »—2 =2 Ballroom | 1RFE 16| 2 12 8 |WeT:F-Q 12
32| 1304 7~ + Bk Latin 1RFE 14| 2 12 8 |C+S-R-P 12
33| 1316 70 - C#k Ballroom 1RF=E 14| 2 12 6 |W-T-F I°]
34| 1325 77~ « D#R Latin 1R CER 2 1 2 2 |C*R 3
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35| 1328 70 - Dk Ballroom 1R CER 7 1 6 2 |W-T 3
36| 1331 PN+ Cik Latin 1R CER 10 1 6 3 |C+S*R 5
37| 1336 20 - C#k Ballroom RS 12 1 6 3 |WeT-F 5
38| 1341 7O - REBEAXDI 7 — =2 Ballroom |  ZERE 12 1 6 5 |[WeT+Vw-F-Q 8
39| 1349 7N+ B Latin ERES 12 1 6 5 |C-S*R+P-J 8
40| 1357 70 - D#k Ballroom RS 6 1 llgfz 2 |(W-T 3
41| 1400 7~ + D#R Latin R 2 1 llgfiz 2 |C-R 3
42| 1403 70 - C#k Ballroom RS 6 1 llgfiz 3 |W-T-F 5
43| 1408 7~ + Cik Latin RS 6 1 llgfiz 3 |C-S-R 5
44| 1413 70 - REBEAD 7 — ~J—7 Ballroom RS 6 1 llgfz 5 WeT:Vw-*F-Q 8
45| 1421 7~ + Bk Latin RS 6 1 Ilgfz 5 |C+S-R:P-J 8
46| 1429 RN BHETT I YRKTIUADY1L) 15
47| 1444 PN+ REIBA100R S — + Ballroom 1RT#E 25| 2 25 6 |W-T-F 9
48| 1453 70 - REEATLU=771J—2 Ballroom 1RT#E 25| 2 24 8 [WT-F-Q 12
49| 1505 PV - B#RSYPEY R Balroom 1RFE 25| 2 25 6 |W-T-F 9
50| 1514 PN+ REIBA100R S — « Ballroom 2RFE 25| 2 12 6 |W-T-F 9
51| 1523 70 - Bk =P 245 — Balroom 1R CER 7 1 6 4 WeT:.F-Q 6
52| 1529 70 - REBPATL =P -2 Ballroom 2RFE 24| 2 12 8 |WeT:F-Q 12
53| 1541 7~ + BREEER Ballroom 1R CER 5 1 5 5 [WeT:Vw-F-Q 8
54| 1549 ¥ - B#RSYPEY R Balroom 2RFE 25| 2 12 6 |W-T-F I°]
55| 1558 70 - REBPAS A YV I RS — Ballroom |1 R () 8 1 6 4 WeT:.F-Q 6
56| 1604 ¥« REIBA100R S — + Ballroom ERES 12 1 6 4 WeT:.F-Q 6
57| 1610 70 - REBHATL =P -2 Ballroom ERES 12 1 6 10 (WeT+F-Q-RET 15
58| 1625 ¥ - B#RSYPEY R Balroom ERES 12 1 5 4 WeT:.F-Q 6
59| 1631 70 - REBAEXS 1YY T 2S5 — Ballroom SRS 6 1 IIgfz 5 |[WeT+Vw-F-Q 8
60| 16:39 70 - B =725 — Ballroom SRS 6 1 IIgfz 5 [WeTVw-F-Q 8
61| 1647 7N« REIBAR100R S — + Ballroom SRS 6 1 IIgfz 5 [WeT+Vw-F-Q 8
62| 1655 ¥ - B#RS 1 PEY R Balroom SRS 6 1 IIgfz 5 [WeT+Vw-F-Q 8
63| 1703 70 - ®EBAT L7 —2 Ballroom SRS 6 1 IIgfz 4 WeT-.F-Q 6
64| 1709 7N + ERBEEA Ballroom SRS 5 1 IIgfz 5 |[WeT+Vw-F-Q 8
65| 1717 ARGV R N 10
66| 1727 70 - REEATL=771J—2 Ballroom RS 6| © llgfiz 6 |TEHR 18
67| 1745 xEgd @EBEZT-5V0 15
68| 1800 FMEEE KERTEER)
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